Math 221 - Test 4 - Part 1/2 - Fall 2016
Ks 7

Instructor: Dr, Francesco Strazzullo Name

Instructions, You can not use a graph (o justify your answer. Each exercise is worth 10 points,
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

I. Find the most general antiderivative of the function f(z) = 22e="" 8 4 cos (2mz), then the particular an-

tiderivative £ () that satisfies the condition F'(2) = —1.
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2. Solve the second order OD‘T-E
f"(z) = 2e* + 3sin z, subject to the conditions f(0) = 0 and f(m) = 0.
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3. Compute the area of the region enclosed by the graphs of f(z) = —42? — 7z + 2 and g( ) = 3x? + 27 — 1

over the interval [—1,1].
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(200 - 3¢%) . . . '
W individuals per day, where I(t) is

the number of new people infected ¢ days after the first case has beén recorded, What is the net-change in new
cases recorded during the first week? (Once you setup this problem you can use technology.)
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5. A virus is spreading, infecting at a rale modeled by I'(#) = 400
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6. A rocket is launched from a vertical position while at rest and 50 feet above the sea level. Immediately after
launch the rocket’s acceleration is modeled by a(t) = t? + ¢ — 1, where ¢ is the time in seconds after the rocket
is launched. After 10 seconds the acceleration is modeled by a(t) = ¢ + 2. Twenty seconds after launch the

rocket is only subject to the gravitational force and it starts falling as a free object.

(a) BExpress the height of the rocket as a function of the time (in seconds).

(b) Will the rocket reach the 5,000 feet altitude? If it does, how long does it take?

/ 3%216"[)‘9%{:(%9
(@f\) -2 ) E220

+_t}f,f; D 5(%\:&\/’5*«)&5: T%? ro

&
L 62+”O
L,QO' U—-%;@’

ERVBNRTE N ERTE

<

51 () = ‘?‘J*/HU, thrL/ bae 5 0= V(o) =

5 (L
- ,(; + C

[/’-‘J RelT »D) y(o) = 8/

%@@% B (== 2300 (1 -

iliézzo\\v(gzm:%%‘;@ | S(20)< 5500

‘,,63) _J(0) = €40 [ D LT 2

o) 7 -
%«i’wﬁé—f@ AwO [g(a:):

=

e
Bt B

ngz -+ f,lg?;@.b/w anvd 00
4 ol
=

o6 %0@

>

Ay Abort 19 SglerdS A~d

S(E)= 9000 jv TR0 T -Framiat
PERS

Flex b

~§(0)7C
ALEEN

[0<£ T <0 prD (> 20



Math 221 - Test 4 - Part 2/2 - Fall 2016

94

Instructor: Dr. Francesco Strazzullo Name

Instructions. You can not use a graph to justify your answer. This exercise is worth 10 points.
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).
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